1,4-Dioxane
Response Ratio

Amount Ratio

Resp Ratio = 5.22e-001 * Amt + 1.14e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




n-Nitrosodimethylamine
Response Ratio

1.8+

1.6+
1.4+

1.2+

Amount Ratio

Resp Ratio = 8.77e-001 * Amt - 3.56e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




2-Fluorophenol
Response Ratio

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 9.40e-001 * Amt - 1.58e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




Phenol-d6
Response Ratio

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 1.42e+000 * Amt - 2.92e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




bis(2-Chloroethyl)ether
Response Ratio

Amount Ratio

Resp Ratio = 1.46e+000 * Amt - 3.09e-002
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




Nitrobenzene-d5
Response Ratio

Amount Ratio

Resp Ratio = 3.69e-001 * Amt - 1.32e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




2,4,6-Tribromophenol
Response Ratio

9.00e-002+

8.00e-002+

7 .00e-002—

6.00e-002—

5.00e-002+

4 _00e-002-

3.00e-002+

2.00e-002+

1.00e-002+

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 1.38e-001 * Amt - 3.53e-003
Coef of Det (r"2) = 0.997 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016




Pentachlorophenol
Response Ratio
0.04-

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 6.29e-002 * Amt - 3.14e-003
Coef of Det (r™2) = 0.990 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016



Bis(2-ethylhexyl)phthalate

Response Ratio
0.6+

0 0.2 0.4 0.6 0.8
Amount Ratio

Resp Ratio = 5.80e-001 * Amt - 2.64e-002
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE102516.M
Calibration Table Last Updated: Tue Oct 25 15:25:33 2016
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